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Questions
If a problem is identified and fixed at a ------- stage in the software development process, it will
cost much more than if it was fixed at and -------- stage.

Data Store notation in DFDs presents.

A process which does not take input is called

An state transition can only occur when triggered by a(n)

Which of these people would not be likely to part of the FAST team?

Most software continues to be custom built because

The Object Oriented approach

Windows mobile is a popular mobile operating system which seen commonly on PDAs. Which
of the following category pair(s) best describe(s) it?

Establishing responsibilities for objects includes

ldentifying System Features include ------

Answers Choice

A. eralier &amp; lator
B. after &amp; before
C. none of the above
D. later and earlier

. Data input

. Data output

. Data input and Data output
. non of the given

miracle process
core process
secondary process
all of the above

actor

collaboration attempt
event

none of the given

hardware and software engineers
manufacturing representative
marketing representatives

senior financial officers
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. Software is easier to build without
using someone else's components
B. Off the shelf software components
are not commonly available

C. Off the shelf software components
are not commonly available

D. Reusable components are too
expensive to use

A. improves the reusability of codes.
B. makes objects less independent.
C. increases testing time.

D. complicates mapping of a system
model to an implementation model.

A. Application software, embedded
software

B. system software, web-based
software

C. application software, scientific
software

D. system software, embedded
software

A. Generalization Relationship
B. Specialization Relationships
C. all of the above

D. identifying Association
relationships

A. log important information
B. conduct business

C. analyze business results
D. all of the above



